Document type

Assembly Instruction

Document No. Revision

238963 A

Production state Permobﬂ
I$HE RHeS e ¢

Preform Date Preform By |Approved Date Approved By Page
2009-08-21 JG 2009-08-25 GHT 12

Order no.

1825141 Left

Assembly

1 gt. Calf rest bracket
2 gt. Adjustment links
1 gt. Mounting plate
2 gt. Screws M6x14
1 qt. Screw M6x10
1 qgt. Screw M6x10
2 gt. Square nuts

2 qt.
1 qt.
1 qt.

1qt

1qt.
2 qt.

List of the items included in the set

Assembly instructions calf rest bracket
1825142 Right

Washers 6.4x12x1.6 mm
Link attachment
Plate bracket for calf rest cushions

Screw M8x10
Screw M6x16
Rubber rings

Read the instructions carefully
before starting work

1. Remove the screw, nuts and washers used to
adjust the length of the leg rest. Place the calf
rest bracket on the leg rest and refit the nuts,
washers and screw as shown in Picture 1.

2. Fit the link attachment and its various parts
and secure them in the calf rest bracket using
screw M8x10 and screw M6x10 (Picture 2).

3. The height and angle of the calf rest can be
adjusted by loosening the link attachment
screws. Tighten the screws once the calf rest
has been correctly positioned. (Picture 3).

Picture 2. Fitting the adjustable link attachment to
the calf rest bracket.

Picture 3. The position of the calf rest can be
adjusted




Document type
Assembly Instruction

Document No. Revision

238963 A

Production state Permobﬂ
I$HE RHeS e ¢

Preform Date Preform By [Approved Date Approved By Page
2009-08-21 JG 2009-08-25 GHT 2/2

1 st

1.

2 st.
1 st.
1 st.
2 st.

1825141 Vanster

Monteringsanvisning vadstodsfaste
Best.nr: 1825142 Hbger

Forteckning 6ver de detaljer som ingar i satsen
1 st.
2 st.

Vadstddsfaste 2 st Brickor 6,4x12x1,6mm
Justeringslankar 1 st. Lankfaste

Fastplatta 1 st. Platfaste for vadstddskuddar
Skruvar M6x14 1 st. Skruv M8x10

Skruv M6x10 1 st. Skruv M6x16

Skruv M6x10 2 st.  Gummiringar
Fyrkantsmuttrar

Las noga igenom anvisningen
innan montering paboérjas

Montering

Demontera skruven, muttrarna och brickorna
som anvands for langdjusteringen av ben-
stodet. Placera vadstodsfastet pa benstodet
och atermontera muttrar, brickor och skruv
enligt Bild 1.

Montera lankfastet med dess olika delar och
fixera dessa i vadstddsfastet med skruv
M8x10 och skruv M6x10 (Bild 2).

Genom att latta pa skruvarna till lankfastet gar
vadstodets hojd och vinkel att justera. Dra at
skruvarna nér ratt lage pa vadstodet har upp-
natts. (Bild 3).

Bild 2. Montering av det justerbara
ldnkféstet pa vadstodsféstet.

\\\ g

Bild 3. Vadstédets ldge gar att justera




